RAHMZAILEYETZILXATADEZA4ILEEY (6)

BAORA T I TXEY 7Y — H)llE
O DI3ODHA TOMGHEL, HAERET DT IV AT ADH A JVEEY ZRilz720, 72006 & \vo TR b T
f\ifﬁl/ \O

Type 7 Type 10
2B+C=2D+A=360" ,a=b=c=d 2E+B =2D+C=360" ,a=b=c=d
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Type 13
A=C=90° ,B=E=180"° —D/2

c=d, 2c=e
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type degree edge net relations
1 A+B+C=360 [3,3,3,3,3,3] =—AKF
2 | A+B+D=360 a=d [3,3,3,3,3,3] =—AKF
12 | A=90, C+E=180, 2B+C=360 | 2a=c+e=d [3,3,3,3,3,3] =AKF
11 | A=90, C+E=180, 2B+C=360 | d=e=2a+c [3,3,3,3,3,3]+[3,3,3,3,3,3,3] | 7ILFATX[3,3344]K
14 | A=90, C+E=180, 2B+C=360 | d=e=2a, a=c | [3,3,3,3]+[3,3,3,3,4,4] T7ILE AT X[3,3,3,3,612K
A=90, C+D=270, R
9 a=b=c+e [3,3,3,3,3,3,3]+[3,3,3,3,4] T ILEX AT X[3,4,64]K

2D+E=2C+B=360

6 | A+B+D=360, A=2C a=b=e, c=d | [3,3,3,4,4] FILEX AT R[3,3,3,4,4]

8 2A+B=2D+C=360 a=b=c=d [3,3,4,3,4] TILX AT X[3,3,4,3,4]
2B+C=2D+A=360 a=b=c=d [3,3,3,4,4]1+[3,3,4,3,4] T ILF AT R[3,3,3,4,4]1&[3,3,4,3,4]

10 | 2E+B=2D+C=360 a=b=c=d [3,3,3,4,4]1+[3,3,4,3,4] T ILF AT R[3,3,3,4,4]1&[3,3,4,3,4]

3 | A=C=D=120 a=b, d=c+e | [3,6,3,6] TILEX AT X[3,6,3,6]

5 A=60, C=120 a=b,c=d [3,3,3,3,6] T7ILEF AT X[3,3,3,3,6]

13 | A=C=90, B=E=180-D/2 c=d, 2c=e [3,3,3,3,6]+[3,3,6,6] 7 I)LX AT X[3,3,3,3,6]1&[3,3,6,6]

4 A=C=90 a=b,c=d [4,8,8] TILX AT R[4,88]




